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147. Ozone can be easily detected by
(1} Heg {2) AgCl (3} HzOq (4] silver

148. Mitochondria probably evelved from
{1} endosymbioctic hacteria (2) archaebacteria
(3] parasymbiotic bacteria [4) subacieria

149, The expression of most genes is regulated primasily at the level of
(1] replication (2} translation
(3] transcription |4} post-transiational modification

189. Alcoholic fermentation differa from anaerobic respiration in being
(1) intercellular (2) intracelluiar (3) mmternuclear [4) extraceliular

* & %
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Hybridomas are associated to production of
(1) monaclonal antibodies {2) momatic hybrida

(3} cancer cells : (4] synthetic antibodies

Onec Dalton is equal to
(1) 1 Picogram {2) 1 Microgram
(3] ! Nancgram 4 3:32x10° % gm

Which one of the fallowing ia a component of ribosomes?

(1} rRNA (2) mRNA 3} tRNA 4) snRNA
Particulate theory of inheritance was proposed by

(1) de Vriea (@) Darwin {3) Weismann 4 G. J. Mendel

In Pinacol-Pinacclone rearrangement, the reactive species undergoing rearrangement is

(1] carbocation {Z] carbenc (3) carbanion (4] free radical

The center of Pribrow box in E. coli lies usually -10 and contain

{1} TCGGOTAG (2) GACGATT (3) TATGTTG [4} AGACTTA

The actual reducing agent of haematite in blast furnace is
{i] €O, () CO
(3] nitrogen peroxide (4} nitric oxide

23 {P.T.0,
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138.

1386.

137.

138.

(274

The scaffold protein around which the bacterial DNA is attached, contains
(I) more of basic amino acids

(2} mere of acidic amipo acids

(3] meore of aromatic amino acids

[4) more of hydrophebic amino acids

The RNA primer synthesised during replication is removed by
(1] DNA polymerase-Ti (2] DNA polymerage-IIl

(3] DNA palymerase -I (4] RNA polymerasge-I]

The Qkazald fragments contain approximetely
{11 1000 nucleotides (2] 100 nucleotides
{3] 10000 auclectidea (4] 0000 nucleotidea

The technigue of introduction of external gene(s) for improving genotype is
(1] tisaue engineering (2] dairy technology
(3] genetic engineering (4] enzyme technolegy

The synthetic vaccines belong to
{1] fourth generation (2] third generation

(3] second generation (4] Lrst generation

-
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129. The substrate for photorespiration ia

{1) glycolate {2) fumaric acid |3} maleic acid (4] oxalic acid

130. HIV-1 reverse transcriptase contains
{1' RNA polymerase activity {2} DNA ligase activity

{3)] DNA polymerase acuviry (4] endonhuclease activity

131, PCR is used for
(1] DNA-rccombination (2) DNA amplification

(3) DNA-repair (4) DNA idenuflication

132. Which one of the following is not a cloning vector?

(1) pBR322 (2) Ti plasmid (3} Hind-II (4) pUC-8

133. DNA blotting method is known as

1) Southern blotting {2) Northemn blatting

(3] Western blotting {4) RT-PCR

134. RF-value ia related to

{1) QFC (2) 1BC (3} TLC 4) GLC

(174 21 (BT.0.)
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122. Which one of the following cell crganelles is involved in signalling processen?
(1) Cell wall (2] Golgi dody

(3] Sphernsomes (4] Plasma membrane

123. Which one of the following is known as the pacemaleer of the heaﬂ‘i—'
(1} AV node (2) Bundle of his

{3} SA node |4) Purkinje system

124. Spectrin is a protein attached to
{1) bacterial cell (2) mitochondrial mermbrane
(3} erythracytes covalently (4) erythrocytes non-covalently

128. Vitamin D is derived from

(1] proteins (2) carbohydrates (3) chalesterol (4) HMG-CoA

126. Which one af the following ions bind strongly 1o valinamycin?

(1) K~ (2) Na” {3) Ca™" (4] Fe™~
137. Malate-aspartate shuttle is operated in

(1} liver [2) skin (3) heart (4] Both {1] and (3}
138. Electron-transport chain iy inhibited by

(1] Ca? {2} vitamin A (3) antimycin-A (4] O,

(174) 20
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116. The deamination of adenine results in the farmation of

(1) cytoBine {2] hypoxanthine (3} adenine (4 uracil

117. Thyminc dimers are formed by

(1} X-rays [2) Alpha-rays 3] Gamma-rays {4] WVW-radiation

118. Which of the following diseases i8 an example of deletion?
(1] Down's syndrome (2) Cni-du-chat syndrome

(3] Turner’a ayndrome 4} Marasmus discase

119, The seedless bananas are mostly

{1} haploid (2] tetraploid (3) diploid (4} triploid

140, Who coined the term chromosome?

(13 Hofmeister 2] Schimmer (3] Waldeyer (4| Strasburger

121. The histone proteins conatituting a nucleosome consain
(1] more of aromatic amino acids
{2] more of basic amino acids

(3] more of acidic amino acids

(4} more of hydrophobic amino acids

(174) 19 (B.T.0j
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Lecithin contains a nitrogenous base, called as

(1) choline (2) inositol {3) lysine (4) histidine

The synthesis of prostaglandins is inhibited by

(1} fluoride ion (2] cyanide ion (3] arsenatc ion  {4) aspirin

Fatty acid synthesis takes place in

{1} cytosol (2) mitochondria  {3) microsomes (4) chloroplast

Ketone bodies are utilized in
(1] mitochondria . (2) chloroplast

{3) extra-hepalic tissues 4) Golgn bodies

Which one of the following hormones regulate the volume of urine?

(1) Antidiuretic hormone (2] Thyroxine

{3] Insulin [4) Adrenalin

The organisms that can grow on minimal medium are called
(1) heterotrephs {2} autotrophs

(3] auxotrophs [4} prototrophs

Most lethal mutstions in diploid organiams are
(1} recessive (3] beneficial

{3} dominant h i4) incomplete dominance

18
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101. The total number of amine acida found in H and L chains of an immunoglobulin are
{(I) 214 and 446 (2) 275 and 350 (3} 250 and 500 (4) 10D and 300

102. CD4, commeonly found on the surface of T-helper cells is a

(1) phospholipid (2] glycapratein {31 glycolipid 4] mucleoprotein

103. Which of the following is a heteroaporous ptﬂl;idoph}'le?
(1) lscetes {2) Nephrolepis {3) Lycopodium 4| Equisetum

104. Syntheais of RNA is terminated by a

(1) Delta-factor (2) Bigma-factor (3] Alpha-factor (4) Rhoe-factor

105. Poseible number of isomers of glucose is

(1) B (2] 1& (3] 32 (4} 64

106. The carrier of the TCA cyvcle is

(1} oxaloacetate (2} succinate (3) fumaratc 4} malate

107. Morphine is obtained from

{1) Rauveolfta serpenting (2| Adhatoda vasica
(3) Withania somnifera (4) Papaver somniferum

108. Which one of the following is involved in DNA fingerprinting?
(1] cDNA (2] Minisatellites

(3) rRNA (4] Beacterial DNA

(174) 17 (PT.O)
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94. QGlutathione is a

{1} carbohydrate (2) lipid (3} iripeptide (4) vitamin

95. ‘Lecithinase’, known for causing lysie of erythrocytes and other tissues containing lipid,

i3 produced by
{1} Aspergillus glaucus (2] Clostridium perfringenes
(3) Streptococcus aureus (4) Streptococeus pyogenus

B6. Whith one of the following when present in excess can inhibit activity of
v i vity of RuDF

(1] Water (3] O; and CO; (3] CO, (4) O,

97. In brain, the major mechanism for rernoval of ammonia is

(1] asparagine (2) aspartate (3) giutamine [4) glutamate

98. The inactive form of an enzyme is

(1} necenzyme (2) isoerzymesn (3] zymogens (4] mesozymes

99. The beta-pleated sheet in present in
(1] fibroin (2) globular proteins

(3) liposomes (4] primery proteins

100. The immunoglobuline are made up of

{1) phospholipids (2] glycoproteins
(3] nucleoproteins (4] hologamy

(174} 16
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Amylopectin ia

(1] water inscluble

{2) partly soluble in water
(3] water soluble

(4} only soluble in organic solvents

Lindane is an example of

(1) inmecticide {2)] herhicide (3] pesticide (4) rodenticide

Ras proteins contain subfamilics. The cne af which is not a part of it

(1) Rho protein (2) Rac protein (31 SH2 protein {4) Rab protein

Which one of the following bacterinl oxidizes ferrous into ferric form?
(1} Leptothrix ochracoe [2) Bagilhis thermophyllious

(3] Pasreurellz pests (4) Trepocnema pallidum

Folic acid deficiency may impair

(1) bicsynthesis of arginine {2) biosynthenis of fatty acids
(3} hemogiobin ayntheais [4} None of the above

A toxoid & a

(1) heavy ioxin {2) toxin that losses its actvity

(3] potent toxin (4} harmful toxin

15
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The entropy change for the melting of ice is
(1) +ve (2) —ve 3} zero {4) No change

Natural rubber is a8 polymer derived from

(i) propylene 2} ethylene {3) imopreme 4) butadiene
Dry ice in

(1} solid CO, {2) solid 8O,

{3} solid benzene (4} solid ice without water

Genes that get sxpressed only when required, are called as
(1] consHtutive [2] induced (3) silent [4) None of the abo

The rate limiting step in the syntheais of fatty acids is catalysed by
[1] HMG-CoA synthase (2) fatty acid synthase

{13) thinlase (4} acetyl-CoM carboxylase

After extraction of cell lysate with phenol, the nucleic acid will be in

{1) interphase (2] the pellet

(3] agueous phase (4] phenocl phase

One molecule of hemoglobin contains iron atoma
(3) 1 (2} 4 {3 2 (4) 3

14
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The subunits of ribosemesa are manufactured in the
[1] nucleolus 2] endoplasmic reticulum

(3] Golgi apparatus (4] mitochondria

The chemical reaction that converts glucose 1o pyruvic acid in a living cel! scenrs under

(1] aerebic canditions
[2) enaerobic conditions
(3) Both aerobic and anaerobic conditions

(41 fermentation conditions

Which of the following enzynies digest peptidogiycan layer in the bacterial cell wall?
{l} Renin {2} Lysozvme (3] Pepain (4] Trypsin

NMR frequency lies in
(11 IR region {2} UV region

(31 Radiofreguency region (4] X-ray region

Mond's process is used for the extractisn of

{l} copper [2) zine (3] nickel (4] silver

An alkyl halide reacts with metallic sodium in dry ether. The reaction is called as
(3} Sandmeyer reaction (2] Wittig reaction

(3} Parasitism (4) Wurtz reaction

13 {P.T.0)
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The cross of F1 with its homezygous recessive parent is called as

(1) teat cross (4] back cross {3) top crasa [4) direct cross

The restriction endonucleases recognize only

(l} consensus sequences (2) palindromic segquences
(3) repeat sequences (4} random scquences

The base in the wobble pesition of a cedon
(1) is the 3’ (third) base {2) ie the 5 (first) hase
[(3) is the second basae {4) often contains inoaine

Alpha amanitin inkibita the action of
{1) eucaryotic RNA polymerase 01 (2] eucarvgtic RNA polymerase 1

(3) eucaryotic RNA polymerase [I (4] DNA polymerase 1

Kjeldahl meihod is used for estimation of

(1) nitrogen |2) carbon (3] alcohol {4} haliden

Hiuret method ia nused for estimation of

[1] DNA (2) protein (31 RNA (4) lipids

If one strand of DNA has the sequence 5°.ATCGAACC..3', the other complimenta
strand will have the sequences

(1) 5..GCTTAGCT..3' (2} 5.TCGATTCG..3
{31 9. TTCCGGAA. 37 4 S.GOTTCGAT.3’

12
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Proreina absorb maximally at what wavelength?

(11 260 nm {2} 280 nm (3} 340 nm

The coleur of copper sulphide is

{1] black {2] brick red (3] sky blue

Blood groups were discovered by

(1} Roland Roas (2} Varmus (3) Landsteiner

Deficiency of vitamin E causes

({1} blindness (2) impotency (3) alton diseanes

In spermsatcgenenia, the acrpsome of the eperm is formed by

(1} CGolgi complex (2) Mitochondria {3) Microsomes

Which one of the following is a viral disease?

(1) Rickets (2] Beti-beri {3} Syphilis

The mad cow disease in cattle ia associated to

{1} prions (2} bactenia {3) virus

Which one of the following acts as a neurotransmittes?

{1 CO 2 NO @ O,

11

(4]

(4}

(4]

(4l

(4)

k)

(%)

(4)

14Pf210/5

412 nm

vellow

bone discases
None of these
Measles
protozoans
NO,
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Abzymes are
(1) entibodies (2) catalytic antigens
3} antibdotics {4] catalytic antibodies

Krantz anatoroy ia sesn in

{1} all monocaots

(2) all dicota

(3) monpecots and dicota with C4 pathway

{4] legumea

Convergent evolution is illustrated by
(1} rats and dogs (2} satarfish and cutdefieh
(3] bacterium and protoZoans (4) dogfish and whale

Which of the following is a strongest acid?

(1) Cl,CHCOGH 12) CIF,CCO0H

3] F,CCOO0H (4) CH;COOH

Which oge of the following is a basic amino acid?

1) Lysine (2} Glycine (3) Threomine (4} Tyrosine

The hybridized state of carbon in CH; —OmCH is

(1) sp andsp (2 sp’ and sp (3} sp @ sp®

10
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49. Lyases catalyse
(1] hydrolytic reactions {(2) transamination reactions

(3] redox reactions (4) unsaturation generating reaction

50. Which of the following is a cofactor?
(1] Biotin (2] Tetrahydrofolic acid
(3 Capper (4] Methylcobalamin

81. Ribozymes are
(1} enzymes using riboae as substrates
(2) RNAs with enzyme mctivities
{3] enzymes working on DNA
{4) nucleoproteins

§3. If concentration is measured in moles per litre and time in second would
unit of the rate constant of the firat-order roacton? fu what be the

1

(1) smec” (21 L

13) Males per litre sec™! (4) Molea per litre

53. The enzyme purification in one step may be achieved hy
(1) gel filtration chromatography
(2] ion-cxchange chromatography .
(3) ammonium sulphate fractionation
14 affinity chromatography

74)
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44, Peptidyloansferase activity is contained with the
(1] large ribosomal subunit
(2] small ribosomal subunit
(3} tRNA

{(4) Both large and small ribesomal subunit

45. The HIV-1 has one of the following as its genetic material
(1) single-stranded DNA (2] hybrid of DNA and RNA
(3] two strands of RNA {4) double-stranded DNA

46. During DNA replication, primase catalyses aynthesia of
(1} complementary DMA strand (2) complementary RNA strand
(3] small RNA aa a primer (4} Okazaki fragments

47. The pH of 01 ¥ HC! and that of 0-1 N acetic acid would be
(1} equal
(2 pH of HCl would be higher
(3) pH of acetic acid would be higher

{4) pH of acetic acid be lower
48. Which one of the following lacks cellular machinery for protein biosynthesis?

(1) Bacteria {2) Fung {3) Lichens (4} Viruaes

(174 8
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37. Hydrophobic drug transporters found in plaama membrane are kept nnder
(i} channels {2) pumps

(3] ABC casseties (4) group translocators

38. A gene rodes for & protein of 200 amino acids length, The size of ihe gene would be
{1} 500 bp (2] 600 bp (3) 200 bp (4) 1000 bp

39. The forces that help maintain the three-dimensional functional conform
protein is mainly wlem of &

i1) covalent [2) non-cavalent

(3} Both covalent and non-covalent {4) ionic and non-covalent

40. Splicecsome removes intrans from hoRNA in

(1) nucleuas (2 mitac;hnnﬁ&ria (3] chloroplast {4) archaebacteria
4]1. D-frucro i ' i i i
b 8¢ can rotate the planc of a plane polarized light in & specific direction. 1t is
(I} racemic {2) dextrorotatory
{3] levorotatory {4} leas dexiro- and more levorotatory

43. The muscle fibhers are

(1) syncytial (2) perimysium (3] racrolemma (4] endomysium

43. The disease Down syndrome is

(1) sex linked (2] autosamal (3] wiral (4) bacterial

(174 T (P.T.0)
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31. Enucleated protoplast is known as

(1) cybrd (2] duplast (3] cytoplast i4] None of the above

32. Ribosomesa are
(1} Lipoproteins (2] Nucleoproteins

(3} Glycoproteins (4) Nome of the above

33. The integrated form of a lysogenic bacteriophage is calied

(1) prophage (2) lysogen
(3) cryptic phase (4) transducing phase

34. Which of the following lipids has a net negative charge?
(1} Phosphatidylcholine (2] Phosphatidylscrine
(3] Cheolesterol i) Phosphatidylethanclamine

38, The lac represser 13 a
{1) RNA binding protein (2} DNA binding protein
(3] complex carbohydrate (4} complex lipid

36. Microtubules are the principal components of
(1) Golg bodies [2) cell walla

(3), apindlea {4] endeplasmic reticulum

(174) 6
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The total number of codons in the genetic code is

() 64 2) 16 (3) 128 (4) 256

The conversion of RNA into cDNA is catalysed by
(1} RNA polymerase Il [(2) gyrase

{3) reverse transcriptase {4} topoisomerase

The males of bees, ants and waspa gre
(1 X/X (2} haploid @ Xf0 {4} polyploid

The scientific basis of Lamarckism ie
(1) natural selection (2] germplasm theary

(3) mutabon theory {4) use and disuse

Which of the following is the left-handed form of DNA 7

{1] A-form of DNA (4) Z-form of DNA
(3] B-form of DNA (4] C-form of DNA

Which ions are invalved in muscle contraction?
(1) Sodium and calcium {2) Soditm and potassium
(3] Calcium and magnesium {4} Potassium and magnesium

Control of hody temperature depends on
(1) hypothalamus (2] pituitary (3] medulla (4) heart

P.T.0
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1. Which of the following growth hormones stops premature dropping of fruits/flowers?
(1) 24-D (2] NAA 3] 1AA {4y [BA

18. Antbadies are produced by

(1} T-lymphocytes (2) virgin B-lymphocytes
(3) plasma cells {4) dendrites

19. The predominant antibody in the saliva is

(1) Ie@ (2) IgM (3) IgA (4] gD

20. [ron is the central atom in hemoglobin whereas in chiorophylls it is

(1) iron (2) magnesium (3] calcium 4) zinc

21. Calcitonin inhibits the reiease of
(1} phoaphorus from bones [2) calcium from nerves

(3] calcium from bones (4] calcum from musacles

232. Antibodies chemically are
(1} proteins [2) nucleoproteing

(3) lipoproteins (4) complex carbohydraies

n3. Which one of the following enzymes is specifically inveolved in glyoxalate cycle?
(1] Acomnitase (2} Succinate dehydrogenase
(3) lsocatrate lyase {4) Lactate dehydrogenase

(174) 4
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(1]  Attempt aa many questions as you can. Each question carries 3 marks. Onae
mark wiil be deducted for each incarrect anawer. Zero mark will be awarded

for each unattempted question,
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{2) U more than one alternative answers seem ta be approximate to the correct

answer, choose the closesat one.

ot pmifies dfche sox Wt s & fe wite &, & Faees ot aw 3

The pyrenoid is found in which one of the following organelle of Spirogyra?

(1) Chloroplast {2) Vacucle (3] Nuclealus

Libmus a8 a natural dye can be abtained form

(1) fung (2] algae (3) bacteria

Double-stranded RNA viruses area csiled as

(1) pox viruses (2) reoviruses (3) riboviruses

(4] Mitochondria

(4) hichens

(4) atdenoviruses
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4. Write your Rolt Number and Senal Nuwmber of the Answer Sheet by pen in the space provided above,

&. On the front page of the Answer Bheet, write by pen your Roll Number in the apace provided
at the top, and by darkening the clrcles at the bottom. Alen, wherever applicable, write the
Question Booklet Number and the Bet Number in appropriste places.

6. No averwriting is allowed in the entries of Roll No., Guestion Booklet Mo. and Set No. {if any} on
MR sheet and also Roll No. and CMR Sheet No. on the Questicn Beoklet.

7. Any change in the aloresaid sntries is to be verifiad by the invigilator, otherwise it will be taken as
unfair means,

8. [Each quastion in this Booklet is followed by four alternative answers. For each gquesnicn, you are to
record the carrect option on the Answer Sheet by darkening the appropriaie circle in the corresponding

row of the Angwer Sheet, by bail-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

9. For each question, darken only one curcle on the Ainswer Sheet. [f you darken more than one circle
ot darken a circle partially, the answer will be treated as incorrect.

10. Note that the answer once filled in nk cannot be changed. If you do not wish o atempt a queston,
icave all the circles in the corresponding row hlank [such question will be awarded zero mark).

11. TFor rough work, use the inner back page of the title cover and the blank page at the end of this
Hooklet.

12. Deposit anly the OMR Answer Sheet at the end of the Test.
13. You are not permitted to leave the Examination Hall until the end of the Test.

14. If a candidaze attecnpts to use any form of wnfeir means, he/she shall be Liable to such punishment
as the University may determine and impose on him/her,
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